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In [56]: print(a) 1R DECS!

a az
[8 o9 1 3] orint(a) TER

In [57]: a.shape BEFIDAZ (& [5] T3
Cut[57]: (5,) D C LR
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In [51]: print (x)
[[ 1 2 3 4] 2 RTDECH x =

10 20 30 40) print(x) T&x=
100 200 300 400]]

In [52]: x.shape  ESOEQ
A TR - [3x4] THDZ
cut[52]: (3, 4] Jixd
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import numpy as np
X = np.array([8, 5, 4, 1, 3])
y = np.array([(1, 2, 3, 4), (10, 20, 30, 40), (100, 200, 300, 400)])

import numpyasnp H uhE

In [2]: i1mport numpy as np
: x = np.array([8, 5, 4, 1, 32]1)
: ¥y = np.array([(1, 2, 3, 4), (10, 20, 30, 40), (100, 200, 300, 400)1])

In [3]: print (x)
[ 5 4 1 3]

In [4]: print(y)

[[ 1 2 3 4]
[ 10 20 30 40]
[100 200 200 400]]
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In [66]: a = np.array([8,5,4,1,32])

In [67]: a.shape
Ccut[&6T]: (5,)

In [68]: a.ndim
out[6B]: 1

In [69]: print(a)
[B 5 4 1 3]

In [70]: x = np.array([[1,2,3,4], [10,20,30,40], [100,200,300,40071)

In [71]: x.shape
out [T1]: (3, 4)

In [72]: x.ndim
out[T72]: 2

In [73]: print (=)

(L 1 2 3 4] shape: T2 DEXF
[ 10 20 30 40] N P
[100 200 300 400]] ndim: J\E%&@HXT? 7
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AOEZFE  np.zeros(10)

[0. 0. 0. 0. 0. 0. 0. 0. 0. 0.]

ATEZE np. ones(10)

‘[1 1. 1. 1. 1. 1. 1. 1. 1. 1.]

AELEX (IE*Eﬁ’fﬁ) np.random.randn(10)
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JEEE! -.".-.-l-:|'.-!3|:|l -1 E‘:I-b‘:&-.
. 01 “’5345 2 56 1.2557075% -2.27158722)

AE??EJE np. array([3 1, 2 5, 4])

[3 1 2 o 4]
Aarange [CKBIBTE np.arange(-5, 4, 2)
[-5 -3 -1 1 3]

Alinespace [CKDIBTE np.linspace(-2, 2, 9)

‘[—2. -1.5 -1. -0.5 O. 0.5 1. 1.5 2. 1]
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np.zeros((2, 3))

np.ones((2, 3))

-1.

[[1. 1. 1.
(1. 1. 1.

AELE (IEMD1H)

[[ 0.4124597
[-1.95575414 O.
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[[0. 0. 0O.]
[0. 0. 0.]]

]
]]

np.random.randn(2, 3)

40007012
92054018

0.86764188]
1.87634564]]
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